Roll No: [2(2|1]8 Booklet SI No: 931
Time:90 Minutes SSS - 2017-18 - e so AR
e e rmis
Uncucing ravgh wori _SET-C el
INSTRUCTIONS TO CANDIDATES - aamdieaciRsdaemt

gsea:t r?:; J:;l::;nlfo ci?dset;ucticms carefully before you gaaERIGHAS QdQﬁSCTGH@?lQ@QWméQWI

1.

Aseparate OMR Answer Sheetis supplied for wriling
the answers. Writedown your application from no. &
11 digil roll number on it as per your Admission Card
and darken the apprapriate circles on the answer
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No. However you can use the blank pages provided
for the roughwork atthe end of this booklet.

. Start answering when you are told to do so. Do not
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-Answer all the questions.Each question has four

probable answers of which one is correct. You have to
choose the correct one and blacken your choice inthe
OMR answer shest by a black/biue ball point pen.
Use of pencil is not aliowed. If your choice is secand

" response then answer like this.
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. For w'réng answer, there Is no deduction of marks.
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.40 :

U cosd+ V3sind= V2 and 0’ <0 <180’ then 1. €R eo,q+J3',sne=_Ji €@ 0’ <9<180" 'sqsm,

whatis 8 equalto?
A. 15 or 108"
B. 35" orll1s’
c. 25%r110°
D. 40°or125°

If f(2)=sin x + cos x, then what Is maximum

valueof (x)?

A 1

B. V2

C..\3

D. 2

How much is the mean of the measnres of all the
interfor angles of 2 pentagon?

A.. 95

B. 98
C. 108
D. 1go° :

0

IfA -1, l) and B (3,-1) are the end pomts of on!

"side AB of square ABCD, thién how many units

will be the length of one of its diagonals?

A 10 -

B. 1o
C. 40

DJ—

A ;- “What is the ratioin which thex -axis divides the 5,

line segment joining the pomts (3, 4) and (2, 6)
internally?

A. 23
B. 32
C. 43
D. 34

0 QAR EREE ?

A 15° @ 108°
B. 35" @ 18
c. 25°Q 110"
D. 40° @ 125"

2% 1(x)=sin x+cos xSRER, £(x) A IR FRY
6060 ? |

Al

B2

c B
D. 2.
Q@ CEQER AT 26Y SRIINRE CRMER
FINYCERERES 7 ' |
95°

9°-

108"

126°

o ow p

4. am(-!.neno,-aeemm ABCRA

QIgAB 8 1590 228, 5060 ¥RIA ST ER
6PUY6EREE RRERL P

A. 16

B VT
C. 40
D. V4o
G, 4 8 2, 6 ¥g a8 Trsaee samgq_ .
x- wseamesaaﬁamasa ? '
A 23

B. 32

C. 43

D. 34.
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6. The ratio of the helght of a pillar and its shadow 6. 6610 Fra w@ 7S gAAca Al sAR
06l 8 QA Qusa  GIRIR BIeR sFdia

cast on the ground during a dayis 1:V3. .
2RQNE 1;3 26¢'16aE anasa QHen g

What is the elevation of the sun at that time?

0 ER60 7
A, 1S ,
B. 30" A. 156 |
: , 45
D. 60° . C. 4 o
D. 60

7. If the product of five consecutive integers Is
equal to one of them, (ilen which greatest & g§ aBeaIe @ie deqa_qm sQrieer

possible integer is likely to be contalmed in PRI 66100 aR TFIR Y, 6069 a6l QEen

them? QY 6P FRISR BZRI TS ?
Al A 1 y *
B. 4 B. 4
C.."6' ' C.'6
"D, 10 ; D10 o
8. 102" 7=32,then what isthe value of 3° "2 3, ©82""’=32 24, 66603° QRN 6R66?
AT A7
B.9 B9
C 27 “ 6 3
D. 81 . D. 8
9. How many Integers occur between 10 and 200 9. 10 8 200 AiSQ & d TWIARS FRISR
. whichareexactlydivisibleby7? . 6QE0IE ey 7 QIR TauRy 7
A 2T A
B 25 B. 25 -
S co23 cos
D. 21 D. 21

10. If o and B are the roots pf the equation ;0 o357 7x'— 3= 0 QONRGER S1RQR o G -
2:’-,-71-43-0, then what is the value of (a+3) gaﬁ.sese(us)(pa)am 5060 ? -

B+3)? .

A. 10 A 10

‘B 12 B. 12
G5 .13

D18 D. 18

@ $3-2017-18-¢



" 41, What Is the H.CF of x-x—4x—6 and

i

.13,

14

- What value willbe obtxined on simpufying

_»/'+»/_ J_+J_ J'+f J'h/'

o o0.-® >

, |
X-2x-37

x+1

‘g 0w P
o
1

1 1 -1

J'?

3+/5
345 .
3

B

If ‘e’ and "l'),’ are real numbers, for which of the.
following conditions a'+b’ reduces tozg.ni)-?
A. a>0, b>0

B. a=0,b=0"

C.§<Q8>d

D5a>0b<0

subtracﬂons wil!beproportionll"

1L

£-8'4x6 @ X-2x-3QEAGEA07
A, x+1 |

B. x-1

C. x+3.

D. x-3

1 R 1 1 '
g i e e SA L S

QR F6R, 6R66 fifie ?

A 3+5

) .B: i3°\f§

€. /3

D.jJS

13 26 Oge cui smqm 681968, FIg 6ot

qama n+b acneqnsee?

A, a>0,b>6

. : B ..a-'——O,b=‘0

5)

C.. 'a_<6,'b,>'o"

. D.. a>0 b<0

: What should be subtracted from each one of 14. 21 38, 55@106 QGS‘QQQGQQ ey 58511@ Q68
21,38,55 and 106,so that the recults f

§snmaaq§emmmeeso7
A 4

-
B. ;42
C.. 6

B |
D :55

- 285572017181~ C



15. In the given figure, ABCD is a square in which 15, @ PERABCD 4@ E0€IM BN AIQSH

M and N are the mid-points of the sides AB and AB'GAD QIRRAR gu@,q_j R edssea geoR
AD respectively, How many square uiits is the QIR 631y 2 ¥RR BY, 5667 MNDB PQEER -

area of MNDB quadrilateral, if each side of the SHOCIR 6060 94 Yea 6Re ?
square is 2 units long? ‘ '

A M B

N
D 9
A, 1;0

A 10 B. 1.5
B. 1,5 C. 20
C. 20 D. 25 L
D. 25 .. 16, 6o QAERQ UR geeR STAR and

16., The sume of the Jengths of all thie edges of a cube . _
is 6 cm. Then what Is the volume of the cube in 662.0.1606% 2R 6adFi6R ¥AER AFARTR

cubiccentimetre? e ) . 2106 Q60 68 7
. - ' ] o
ALl A —

36 . 36

1 .1
B3 B
c. L .ol

8 ¢ ‘8
D 1 p. L.

4 4 -

" 17. Ifeachofthelength andbréadthof arectanglels 17. €0 6610 2AGeHEa 68y @ Y gENG
' increased by li][lf/., then what will be .the IOO%QﬁbIﬂ,SQGé IR SHEURA WQ&

percentage ncrease in its area? 6060629 ?
A: 100 A 100
?’ e B. 200
G .'3°° . C. 300
D. 400 ‘5 abi

18 - ' §88 - 2017-18 -C



i1

B. 80

'XYZand PQ

O 8 .y
H
W

. .

" PS
In the given ﬂgure, STI PQ and ;6-3 “If 8. qgéigsa, STl PQ &* Fé‘?
.. 65801 45 96T 626R, C1ORAA STROR

the area of APST s 45 sqem, then what is
area of the trapezium STRQ in sgem unit?

.3 apsta

EHRTREREE RE69.58.689 7

A, 60

C. 100
D. 125

" In the gfvenngure.oisthecentre ofthectme =
is the ungent at X. If -
' 'méXYZFGO whatisthemeumof ZPXY?

P

A

B
: Cfloo
-

125

; eaﬁesaqmm@asegowxﬁqsa. L

>330S G;Qq@ e cead "Q I mAXYZ—30 L
6R6@, axyaeﬁﬂmese 7

- —_— .

U Aw s
a
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20. Inthegiven figure, s isamedianof AABC. 20. 08 968, AABC @ AD @ FRiFH| &8

H AD=4 cm, BD=3 cm and AC=5 cm, then what - 3 AD=4 sq‘ﬁ., BD=3 69.8. @ AC=5 69.5. 2,

is the area of AABCinsqcm? 6060 AABC Q680006060 0d62 8. ?
A
B C
D
A 9
A9 |
B. 12
B. 12
C. IS
c. 15
D. 16
D. 16
6. 2L 4 G.S. NSRER
21, 1f the density of water at 4'C is 1 gm/ee In 2+ ¢C SIUFIGEA SR ALl C.G.S. e
C.G..S, units; how much would it be in MK.S, 1 gm/ce 626M MK.S. QG6Q 2 SRS
units? .5997
A. lkglee A. lkglco
B. ikgm’ B. Ikgm’
C. 100kg/m’ C. 100kg/m’
D. 1000kg/m’ D- 1000kg/m’

. - , 22. Q@ QIR 991 g8 30 km 69068 15 HRFE ob
-22. A car travels with a constant speed of 30 km/hr " :

for 15 min. 4bd then quickly speeds up to @RITER 2TAY BI 606 A4 9F 50k § 78

50 kn/hr to be aintained for 30 min. The its ®3 6aZ eeasa 30 ARG adw & Rl
average speed in knm/hr would be; ol'eesm Qafa sl 6ea Qe ge Q66
A. 4333km/hr demificaeee ?
B. 40kmhr A. 4333 km/hr
C. 45km/hr B. 40km/hr
B St C. 4Sku/hr

D. 50km/hr

(3) $85-2017-18-C



23. A bullet fired Into a wall loses half of its initial 23,

25.

26.

speed after entering through lcm into the wall.
How far further can it move before coming to
rest?

A 2em

B. 1/3cm

C. 23cm

D. lcm

Train A of length 120m moving with a velocity
20 m/sec is about to cross ﬁnbther train B of
length 130m, moving towards it from opi)ésite
direction with a speed of 30 m/sec. Then find th-e
time duration during which the trains would
cross each other.

A. 36sec.

B. S5sec.

C. 38sec.

D. 40sec.

A pump draws 1000kg of water per minute fmq
awell 12m deep. Then the power of the pump in
H.P. unit would be very nearly equal to_;___
(given g=10 m/s")

A 20

B. 23

C. 2.63

D. 2.5

A sound wave of frequency 1KHz takes
10/3 seconds to travel a distance of 1. km. Then
its wavelength wouldbe___

A. 20cm

200em.

360 cm

B.
C.
D. 30cm

25.:

26.

@ Q010G ABY RS ANIBIYN R 28R §RS
IRR 1em Q2GR 060 IRIA 696 gafe
6008 ZRIl 6RINEER; AT 2N 6860 NTAIR
ZeRde?

A. 12cm
B. 1/3cm
C. 23cm

D. lem

. 120 floe 686 T8 9@ 6ER, ‘A%, 20 misec
60GI6Q GF KYYQIERSR FURE TG 30 m/sec

6006Q 21ggR1 130 FeQ 6THA 2N IR SR
‘B Q20RA ARG 6R60 AN RIFS 7

A." 36sec.

B. S5sec.

C. 38sec.

D. 40sec.

<e'of 12 Aca SRR 4@ qu8 96 Afesa
1000 kg @ G eoladical sose affa
Il SO0 2AGeS (HP.) YRR 6860
629 | 406 (=10 m/s’)

A 20

B. 23

C. 2.63

D. 25

<@ YR ORETR QA 1KHz 26F'] 1 km Q0O
Z6QF Rig a8 YRIg  10/3 6A6RS MI6T,
6069 YLIR ONET 6TAYE6REE 6RR ?

A. 20cm
B. 200cm
C. 300cm.
D.. 30cm

$55-2017-18-C



27.

28.

29.

30.

Abody when floats in water; 1/3 rd of its volume

remains outside water. When it floats in another

liquid, 3/4th of its volume remains cutside the
liquid. Then the density of the liquid is;

A. 9 pglec
s

B. 8 glc
3
C. 4 gl

3

D.sycc

An object Is placed on the 2F position of a
< .
convex lens. The magnification (m) produced by

thelensis;

A, m>1

B. m<]

C. m=l

D. Noneofthese

A bi-convex lens is split vertically into two equal

27. 4@ 995 oR6R QISRIEESR IR ARGKA IF

28.

29.

parts so that two plano-convex lemses are

formed. If the focal length of the bi-convex lens
be "f", then thé focal length of each of the
plano-convex. lenses would be;

A f

B. 12

C. 2f

.D.

Which of the following statements is correct for -

aconcavemirror?
A. Alwaysproduces real image only

B. Alwaysproduces virtual image only
C. Canproducereal and virtual images
D

. Cannotproducereal imageatall.

EPIArS GR QERQ AN 88 vl 2Ry 9@
eaRaaIIsq USAISOER NRIA ZIACRR (3/4)
Qe ear acld Qoaq M| 6069 69
ERRa0IIN QLG Q60 ?
.9
A._ y glcc
.
B. Zg/ee
: g/
C. 4g/kc
3
D =
. glce

G RER SRRIER 2F YREA ¥R 09 QUSRI

wia gida adiseseg «osa SRRyl

cfede (m)62e;
A. m>1

B. m<]

C. m=1

D. QU600 a6 Q6L

aa clf SFNICER KRR YS! (bi-convex) 4@
0RI6Q AR GIVEH TAIR 2RNS RAIGRI AR
QREaIF OeRIe EseRIl BIMISR e/ oY

| QReR 8 ZRNIEE Qarl OF AR SoRIeRa

30.

(10}

ETRQ QRO! ‘P, 6060 TEOUR ROR LLRIOR
SR QNS 689;

A f

B. 12

C 2

D @
N@ Z0OR(concave) 08 QIR ﬁSﬂlB 62616

LY

A. F0I6R9R VSR YERAGER6RI
B. QE0I6ROREIRINGETAYERER
C. Q6019 " AR YITAGRUCR
D. E¢IQEegeenedacnni@) '

$§5-2017-18 -C



31

32.

33.

34,

An electric current of S amperes is divided into 31, 5o §guesgie ER6AIT uaca SR ale

three branches, along three wires of same
material with same cross-section but with their
lengths in the proportion of 1:2:3. Then the
current in the middle branch will be;

A 30 A

B. 10 A
11

C. 15 A
5
D. 25A

An 80watt lamp is connected to a 220 volt powet
supply. Its resistanceis;

A, 1210Q
B. 600Q2
C. 605Q2
D. 4840

Two resistances 1002 and 3Q are connected in
parallel across a battery. If there is a current of
0.2A in the 1052 resistor, the emf of the battery
will be;

A. 2volt
B. 2.2volt

C. 1.8volt

D. 2.6volt

Which of the following has maximum number
of mble’cules_?

A7 gmMMgm (&)

B. 23 grams nitrous oxide (g)

C. 2 grams Hydrogen(g)

D. [6gramsoxygen(g)

an

01060 Q1 6RIRER! | 18 618 BeRIF AR QG
o2l QAP GIEEER SLINYRIGRER EARPR
s8cue 20016 1:2:3. 6060 AR GIOTER §QIR,
69160 CRAIEELR;

30

A, 1

A

E'
1
15
Tk

D. 25A

. 1R 80 G5, TRYS, ORQ 220 volt R A IEAG -

SAIRE | eRefa §Qie gieaRIR 6RE0 ?

A 12100
B. 6000
C. - 6050
D. 484Q

33. 1004 30§88 gaEEIF ghsang aAIse

QUEQ 4@ QUSE'S! QB0 saId SRIGE | 06
100 ©I06 024 246 6416 OEE 24 6068
QUISERR emf 6966 629 7

A. 2volt
B. 2.2volt
C. 1.8volt
D. 2.6volt

. iR Atis ceaten g afiye 7

A. 7R ORTIORE MY,
B. 23giF|RIAEARAE HQ
C. 28IFQe@iReNg

D. 16GABFRIR SN
$58%2017-18-C



35.

36.

37.

38.

39'

Which of the following pair is isoelectronic?
A. CO,.NO,

B. NO,,CO,

C. CO,CON™

D. §0,,C0,

Which of the following is not an exothermic
reaction?

A. CaCO,;—-Ca0+CO,.

B. CH#20,-CO,+2H,0

C. HCl+NaOH - NaCl+H,0

D. N,43H,-2NH,

Select the incorrect statement.

A. C;Hydoesnothaveany isomer.
B. HCOOCH, and CH,COOH are not same

Organic compotinds
C. There is no organic compound with formula

CH,0
D. CH, has two 7 - bonds

What Is the correct order of P* of agueous
solution of the following salts?

A. NaCl=Na,CO,=NH,CI

B. NaCl<Ne,CO, <NHCI

C. NH,Cl1<Na,CO,<NaCl

D. NH,Cl<NaCl<Na,CO,

Which of the following has oxygen atom in zero
oxidation number?

A. Hydrogenperoxide

B. Ozone
C. Water
D

. Oxygendifluoride

35. FIRG ARIE) 6R6I6CIFT anaemeR e 7

36.

37.

39.

(12}

C0,,NO,
NO,,CO,
CO,CN™
$0,,€0,
SR ITRRAR GRAIS Dl QYIRINeE ?

P o w >

A C;CO3->Ca0 +CO,

B. CH+20,~C0,+2H,0

C. HCl+NaOH—NaCl+H,0

D. N;#+3H,-2NHH,

REGTQIa!

A. CH, a6cleRARAe AT

B. HCOOCH, 4" CH,COOH <@ 6@¢Q
6000606 R6L -

C. CH,0 T6Qe6aslsdcddasdiand

D. CH, §Q9e% n-e2 !

60 491 RO gFea ania gean a0 P" ¢A
6Q6I ?

A. NaCl=Na,CO,=NH,CI

B. NaCl<Na,CO,<NH,CI
o

D. NH,CI<NaCi<Ng,CO,

NH,C]1 <Na,CO,;<NaCl

B¢ FRIG SRETEER AR VAR Q1RSI ey
o ?
A QAEREERETANQIRG,
B. GeaiR
C. OR
D. UFERR,IRELINSE,
$5-2017-18-C



40. Which of the following shows addition

41.

42.

43.

reaction?

CH,
B. GH,
C. CH,

A

D. CH,
In order to prepare hard water from pure water
which of the following salt may be added?

A CaCl,

B. MgCl,

C. MgSO,

D. Allofthese

Gases causingglobal warmingare
A.. CO,,CH,, N,,0,

B. C€O,,CH,, water vapour

C. CO,,CH,, N,,0, and water vapour

D. C0,,CO,CH,, N,

‘X*is a substance which is soluble in water and
its aqueouns solution turns red litmus blwe and
prodlgo.es H; onreaction with zinc. Itis prepared
by electrolysis of NaCl(aq.). Whatis X?

A. HNO,

B. NaClO,

C. NaOH

D. NH,0H

Place of gold in modern periodic table

s=black

p-block
d-block
f-block

v 0w >R

4 o.

41.

42.

43,

44.

(13)

fe)rie 66l 6AITR 6XG GOFA afaN ?
A GH,
B. GH,
C. CH,
D. CH,

€8 GRY 'HORR'6R DRae eRSIIC 6Rel edl
IREIR FAIIRSIER ?

A. CaCl,

B. MgCl,

C. . MgSo,

D. WK

QIIte agelQf eqyel suagFesenl
A. CO,,CH,, N0,

B. CD,,CH, @3 6/9

C. C0,,CH,, N, 0,46 SX9 Q9

D. C0,,CO,CH,, N,

X’ GRER EOAIA | YEIQ WA 2e8 RIR
émqm@eéa e zinc QRG YOG €8 B,
Q97  Q6Q | ¢RI NaCl & @R1a gear Sgue,
Seqaaaedea gge eniavl Xeend_

A. HNO, "

B. NaClO,

C. ‘NaOH :

D. NH,0H
AFRaduagaasagriage .

A. s-block

B. p-bl;.»ck

C. "d-block

D. f-block

$$5-2017-18-C



45.

46.

47.

48.

.49'

Which of the following has the formula KO, ?
A. Potassium suboxide

B. Potassium peroxide

C. Potassium superoxide

D. Kalium oxide
_~CH;
TUPAC nameof CH,= CH s

“NBr:
A. 3-Bromo-3-methylprop—l—ene
B: 3-Bromobut—3 —ene
C. 2-Bromobut—3—ene
D. 2-—Bromopr9p—-l.—ene
Which of the following organisms belongs to the
kingdom monera?
A. Amocba
B. Parameium
C. Mycoplasma
D. Diatom
Whatis the function of phloem parenchyma?
A. Growth
B. Celldivision
C. Storage

D. Transportoffood materials

Which of the following increases the water
holding capacity of the soil? |

A. Bloom

B. Clay
C. Humus
D. Sand

45‘

KO, 608 6£l3a6 I6ae ?
A. 6019300 0BRANE,
B. 6QIG1QG¢|6CRRINE,
C. QTR INBFRE,
D. QYRaABRIRe|

~CHs

46. CH,=CH_' 2 IUPACRIFIR'@?
B, N Br

49.

(14)

A. 3-Bromo-3-methylprop—1-ene
B. 3-Bromobut—3-ene

C. 2-Bromobut-3-ene

D. 2~Bromoprop—1-—-ene
47, F66)0 6ael IR EAIGRRI ST ABYD ?

A. el -

B. QieIRan

C. FIRSRIYRA
D. glagien

6 TIERRIINFI ERETRITIAOR @6 7
A oF

' B. REGAIRE

C. el

D. IGYETNE!

Ferle 606 agier ASKIR AR SFRIg QF
99"?? e
A. 697
B. Qigd
C.
D. QRS

§85-2017-18-C



50. Which of the following is not necessary forlight 50, 26RIG TEHHOR 2EAIR X FNQ FaRge |

reaction in photosynthesis. - ERE6 UMD 7
A. Light A TERIS
B. Carbondioxide B. IFIQRIF]
C. Water C. o
D. Chlorophyll D. aéeﬁG{
5t. In.the sbsence of oxygen which product is 3S1. AR as;a;@ea @Gﬁﬁ‘aﬂ%ﬂmw
formed from pyruvic acid in muscle cells? SQIEER 6REIAQe FARLY ?
A. Ethanol A QOPR |
B. Carbondioxideandwater B. ZRORIFGRR-
C. Lacticacid C. AREREF
D. Methylalcohol D. AUORBIREHIRR
52. Which of the following s not a parthenocarple 5+ 75018 TRgFa FRig 6acld 20ado aR
fruit? Y
A. Banana’ 9 &
B. Apple SCTOR
C. Orange G Sl
D. Mango D. "t
53. Which revolution played important role in the 53. RSP fana RISy QJeR a6l 6861 FRa
production of new varities of food crops? wqﬁq R ?
A. Whiterevolution A 6qORQR
B. Redrevolution i
C. RATge

C. Greenrevolution
D. QUQRYE 6ReR Q6L

54. 6l e eBtsRINA gIR AORR QIR 96 ga

D. Nogeoftheabove
54. The intercellular space of which tissue Is filled

with lignin? eI ?

A Collenchyma A. CQISRRQISA
B. Parenchyma B. QIGQG‘\GIQQI

C. Arenchyma C. BEORAIRA
D. Schlerenchyma D. 66REAR RIRF

(15) $§5 - 2017-18-C



55. Whatis the phenotypic ratio of F, generationof 55. 6FSR& QYR AAQUER §APAEEA F, agsa

Mendel’s dihybrid cross? QENFIIe ARE 660 7
A @y A @Y

B. (:2:1)’ B. (12:1)

c. 21y c. (21

D. 31 D. 31

56. How many secondary spermatocytes’ are 56, 400 g€ RQY 62RICIR 6601 QO‘IQGQQ{Q_

required to form 400 spermatozoa? Zicena ?
A. 100 A. 100
B. 200 B. 200
C. 300 C. 300
D. 400 D. 400

57. Which of the following hormone is the other £7, MQWWMMLHQM ?

nameof LH?
- A. TSH
A.
_ B. ICSH
B. ICSH :
C. ACTH
C. ACTH
D. FSH
D. FSH .
58. 2lf! ABKRISK RBYR! Escherichia coli 6@
58. Which vitamin is produced by Escherichia coli
| Qeifinggeenant ?
presentin ourintestine? _
A. B A. B
B. B, B. B,
C. B, C. B
D. B, D: By

S9. What is the name of the third ventricle of 59 FEIAASIAEAFIAQMNARE ?

human brain? A, €IREAR
A. Diooel B. 6RUGFIAR,
B. Rhombocoel
' a8 ’QIQSQIG‘R.
C. Rhinocoel )
D. da¥
D. Paracoel m

(18) §$§ - 2017-18-C



60. Whichofthe following statement is not correct?  60:

61. Which of the following factor is a produced 61.

62. In 2016 Human Development Report published
by UNDP, India has been placed at

A.
B.
L.

D.

Flow of energy is unidirectional
Lindeman postulated ten percent law
Manganese is a macronutrient

Protein isamacronutrient.

means of preduction?

A,

A

B,

C.

D.

B
C.
D

Land

. Labour

Capital

. Organisation

130th posiliqn with 0.609 score
135th p‘os.ition with 0.608 score
131th position with 0.624 score
132th position with 0.624 score

62.

o

fer)o 6Q6 08T OR ged ?
A. 99Q YRR GEEH

B. R6SAIR @6 g6 AAFISIRN aResm

C. FIIAG @ IR 6aIae

D. ¢8R ease

ROMYS AG QYRR 606 AP QYIRRe
aQIGe ARNA 2SS |

A, 9f

B. ¢

C. &

D. €606

UNDP i1 9186 2016 AIRe SQI6 Seagisa
QUREA R

A. 13064gR0.6096AQ AR

B. 1356¥15R0.6086910:Q8

C. 131691gR0.6246<09%
D. 1326AgR0.6246I0CR

Whichof the following s not traewith respect o ¢ Aeoqy 600 QUIRFIRTRIR SLIRA TIET SR
Pradhan Mantri JanDhan Yojana? .

A

B.

C.

D.

Which ‘of the following deposits with bank 64

Zerobalance account
Life coverage of Rs.30000/-
Accidental insurance of rupees onelakh

No interest on deposit

offers cheque facility?

A

B
C.
D

Time deposit

. Recuring deposit

Demand deposit
None of the above

a7

Reg?

A SRHGAIS!

B. - 3ooodmmm FIORTIFI QIF AFIRE
C. W@RAsQQIea rIZFIRG .

D. SR QUeQRIAEER

MR FNYE CAIGER ARG 6R6IT6R 6OR,
qRulegan?

A gatee

B. g9ARQ@0e el

C. oRQieal

D. QUEQIS FRIGERET R6L 7
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65. GDP is the total volume of product

66.

67.

produced during sn scounfing year in

country.

A. Allgoodsandservices

B. All final goods and services

C. Allintermidiate goods and services

D. Allintermidiate and final goods & services

Public Distribution System means distribution  66.

of esential commodities to a large number of .

people through a network of fair-price shops on
a recurring basis. The commodities distributed

under the system are

() Wheat, (1) Rce, (i) Pulses, () Sugar
A. (i)',(ii)mxd(iii)_

B. (i),(ii)and (iv)

G. (i), Giif) a0d iv)

D. @), (i)and ¥

Consumer Protection Act, 1986 -provides .o

effective safeguards against different types of

exploitations. These exploitations are in the

formof

() Defective goods
(H)Deljélent services

(iii) Unfair trade practices
Whicl; aneistrue?

A. (i)and (ii)

B. (ii)and (iii)

C. (), (i) and‘(iii)

D. (i)only

s,

A.

B.

C.

D.

Q

65, GGUENI BOGIER R AR 950 QQRE STRYR

Q 66 NG GPP RIS
YN EELR

1S 16 621 B QM
I AR @Y 362

QFIS QHI0 B UBRN QRN ¥e° 62

il ear Quegia 2d qme AmY

COIRIPAINER 6REGIT FARIAGR PSR
ZRINEH QLHIR QAANIRER, ZEULEIR
eQugPaa €an aiell 47 ear fieg) 2Isde

eegpeseRl

() SRF, 1) FIOR, () O, (1) 07
A. (), Gi)SGii)

B. ()G)8G)

C. (id), (ii)) 8(v)

D. (i),(iii)@(i\f)

. 1986 €EE Al RFan I8 9RQ 66154

3Q860 TRYPYRSIFIR SAISIR: 62685 | 632
6SISEIGPRR QU sLaR.

® gfqdesy

(i) @A 6!

(i) 2] 6LAUS ARIC
PRI 66T O] P

A

B.

c

. ()8

(i) B i)
0, (D B
'sm M
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68. Which of the following stdtement is true for - 68.
 NITIAyog?

69.

70.

71.

(i) Itwillworkasa Mk Tank

(ii) It will allocate funds to the Central and
State Government,

(iif) ¥ will promote co-operative federalism

(iv) It will. expedite emplementation of key
‘projects/schemes

A. (i) and(ii)

B. (ii)and (iii)

C. (ii) ahd.(iv_)
{ii), (iii) and (iv)

Arrangg the following f;mr planets according to

+ thelrincreasing distance from the sun:

1. Ventis, Z.M}n, 3.Earth, 4.Mbreury
A 1,2,3,4
B. 4,1,3,2
C. 2,341
D: 2,4,3,1

‘Which one of the following volcanoes is situated  70.

inMg;.xico?
A. Etna

B. Semeru
C. Colima
D. Purace

Which country is known as “the Land of 7.

thoussnd Lakes™?
A. Ireland

B. Finland

C. ‘Scottland

D. Switzer Land

e .

FEAIB OS FRIQ 66T AT AN ARIEE!

geaN ?

()RR FerrER e Rl afie

(1) 121602 BRI ARRIAR 2 0an ofe

(ili) N2 IO TNA YRYIQ T ede ofie

(iv) 21 S8 999 / af6RIoR gFea Ridigan
Ao ede

A ()8(D)

B. (if) G iii)

C. (iiBav)

D. (iD), (i) B(iv)

9. QEMOIRGRR {F ZRAIEH Rers oidsad geg.

Qe
LER: 2.F618, 3.6901 4.9

A 1,2,3,4

B. 4,1,3,2

C. 2,3,4,1

D. 2,43,

RS QRINMGFR FRIG 606K srArGsaisa
aede?

A. wRl

B. 69669

C. salan

D. gKeQ

6REI6RER ALY BOR 6L 6N QRIAN ?
A. BRORIS

B. danis

C. g

D. geecmis

§88 - 2017-18-C



73,

74.

7S.

76.

On which river Kzribe dam is loczted?

A. Hudson Ri‘ver

B, NigerRiver

C. ZambaziRiver

D. NileRiver

Between which of the two islands the Sunda
Straitis situated?

A. Javasand Sumatra

B. Javaand Bomeo

C. Sumatraand Borneo

D. LittleAndaman and Car}Nicobar

The Gulf of Mannarislocatedinthe:

A. BayofBengal

B. ArabianSea
C. GulfofKhombat

D. AndamanSea

By which of the following rivers the lands of

Punjab and Haryana areirrigated? -
A. Jhelum, Beas, Sutlej
B. Ravi, Yamuna, Sutlej
C. Ravi; Beas, Sutlej
D. Jhelum, Beas, Ravi

Which of .the following pairs is correctly
matched?

A. Durand Line - India and Myanmar
B. . Radcliff Line - India and Pakistan
C. McMohanLine- India and Nepal

Markat Line - India and Afghanistan

72.

73.

74.

75.

76.

(20)

QIS FO1I0R GRSl ReTRESR ENFR ?
A. 20001

B. AReandl

C. Qisamaa

D. ARG
qs:gnmsedga&'qﬁmsamqe?
A émme'qcn@a

B. @io14e°60@8

C. IR g@’soﬁis

D. §Ga9FAIRGARIEREN

SRR QAAUR ERSOER AT ?

A, QsaNadicia

B. ZoeQeR

C. SRITSOIR

D. ZOFIRATR

awe 6 cRaeIR oA Fege cod RAIGHR of
QRECDE sRIGEY 7

A. GERAF600IA RFAR,

B, i, 960, 966R%,

C. GIF,6081, RERE,

D: 6¢aF, 69219, G

%qnésedsm@@ ORAIPSA ELIRIIRE ?
A. QI86081-aeeBAFAR

B. QIEGT AN - W0E BARIR

C. - FUIQEFIRA 601G - RIGE B 6RAIR

D. qrs{eqsmn-am(s‘am@qe
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. o . .
77. Which of the following two islands are volcanic 7. %qg S ‘Z.Qa A2 G‘ﬁ‘ﬂ?‘m K

islands? A. QRIGNBHAAR

A. Kavaratti and New Moor B. QQIOERQ

B. Kavaratti andBitra C. GARGRYSaR

C. PambanandBarreﬂ D ER BRI GIF]

D. : eale'saiel
Barren and Narcondam 78. 6SmIBRIQ GOIIgaR ?

78. Balladllais famous for:

A RIRC
A. Bauxite -
B. 6xlm
B. Coal
C. mRidea
C. IronOre
o D. oAl
D. Copper N\
' 79. GRILA7?

79. Whatis Obra?
A. ARYAATIEIVR 062

B. @SR QITR 65 6qQ

A. Atomic Power Plant in Rajasthan
B. Thermal Power Plantin Uttar Pradesh

C. Atomic Power Plantin Kalpakkam - ARAARTIERS 960

¢
D. Hydro-electric Project inuttar Pradesh D. GRRIEOINERTQE saRR
80. Which one of ihe following pairsisﬁot correct? 50+ M’“ 6QeI6aIFE OrRed ?

A. KanbaNational Park - Madhya Pradesh A, QIGIQIEIA QMR - FRIGEAR
' | | B. QR QISR a04A - odice
C. QEIEERIN PIFIRGRIR - GRAIS
D. QREINGNFERAMIS - 23S

B. Bandipur National Park - Karnataka
C. Ranthambore National Park - Gujurat
D. SultanpurNational Park - Haryana

81.  Why s the year 1789 famous in the history of the 81. " 1789 13RI QU RETITER Q1T gda ?
world?

A. OQOutbreak ofthe French Revolution

B. Oitbreak of the Russian Revolution B. Q83ge afem!

A, TN AT

C. Outbreak of the American war of C. alsﬂﬁma%m@:q'gmq@qm

'Independexice .
D. Outbreak of the Industrial Revolution D. ARQgeaRYRIl

(21) §5§-2017:18-C



82.

83.

84.

85.

86.

Who had published the Communist Manifesto?

-A. CzarAlexanderll

B. LeoTolstoy

C. Maxim Gorkey

D. Karl Marx and Friederich Engels .
Who bad led the 1917 October Revolution in
Russia?

A. Rasputin

B. Lenin

C. Stalin

D. KarlMarx

Which European country had dontinated the
colonisation of Vietmam?

A. Holland

B. Spain

C. France

D. Portugal

How was the impact of the First World War on
the European .:econom.y during 1930’s
described?

A. TheGreat Bcongmickecovery

B. "l'thmtEc;:nomicDepression

C. The Great Economic Stability

D. TheGreatopportunity for Economic progress
Whois the author of the book ‘Mein Kampf®?
Hitler

Mussolini

Napoleon
Lenin

o w >

82.

83.

86.

(22)

QFIR| FIFGCIe® @ ORIN 6AYSA ?

A. FNGHIRAZEARAIIN

R. RBEASS

C. FIGF6sIe

D. QRAFABETEENR®ERY!

QS2IQ 1917 ZERPR TGN 6RORQ @9
ERRYSA ?

A QR

B. 6APR

C. ¥R

D. AR A1

6R61 QEEAITIA 628" AERIAER AaREes!
gIOR 68RER gRIe FSUR eﬁqm] ?

A SRS

B. 69R

C. giRd

D. IR

1930 A2l 6CRY TR §YIN QREAITIA
e aose gwoéﬁaﬁ edeleniaiagRI ?
A. RpERERIeD

B. @@cadeaes

c. coradegae!

D. 2R daIfaIeegsas

“seleifr” (1R aad) gaen Aol E ?

. foRa

. £leaiRM

sREaIRGR

. 6RAR

& >

= )
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87.

88.

89.

90.

91.

In which session of the Indiam National
Congress was the ‘Purna Swaraj’ resoluton
passed?

A. Karachi Session

B. Lahore Session

G- Madx'asSession

D. Bombay Session

Which of the following answer options is

written in correct chronological order of the

given events?

A. First Round Table Conference, Simon
Commission, Non-Cooperation Movement,
RowlattAct

B. Simon Commission, Rowlatt act, First Round
Table Conference, Non-Cooperation
Movement . '

C. Non-Cooperation Movement, .Simon
Commission, First Round Table Conference,
Rowlattact .

D. Rowlatt act, Ndn-Coopefadon Movement,

Simon Commission, First Round Table

Conference
Wha has written ‘Gita Govinda’?

‘A. Upendra Bhanja

B. Jagannpath Das
C. Jayadeva
D. SaralaDas

When did Germany surrender to the Allies in
the World War II?

A. September, 1943

B. May, 1945

C. August, 1945

D. December, 1946

When did Mahatma Gandhi return to India

from South Africa?

A. 1914
B. 1915
C. 1916
D, l9i7

87.

88.

89.

91.

(23)

QAP VIO FCEAR 6RE REAGRER

‘YRR’ YR GLI0 SRINURI 7

A. QIGIZRESR

B. RIEQIQ TR

C. FIRIREREOHR

D: Q6AZREIR

Famye Qe 3e8 fe6 6REESA FaIaR

AP AORANUCREACRIAQE ?

A. 98R 6UIREERR 6T0R, AR @F9R,
AAR6AALELIRR, AUBRG ZIAR |

B. QR @R, , GIGRE. BleR, 9dF saIR
659R £SOR, BAVELUG ACLIRR |

C. ETCESUIGITBLIRG, AR @A, 92 5N
GGQR 6C0R, QIS RC 2HQ

D. QGRS ARR, , TGS BICDIRA, ARAR
AR, QN 6SIREEOR 6F0R

‘AL ARSI TG ?
A. G6OQ08
B. @gdRleled
C. 9966Q

D. JoRed

Gora Sggeca 6qse adlim feas aiea
agandaefgym ?
A. 696AR, 1943

'B. 66,1945

C. o8, 1945

D. G6QR%, 1946

Aiieis 6a6e e AT alaeq
6OPAYSR ?

A. 1914

B. 1915

C. 1916

D. 1917
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92.

93.

94,

9s.

96.

Which one of the following statements is not
true?

A. RajaRam MohanRoy wasaking

B. Raja Ram Mohan Roy was the founder of
the Brahmo Samaj

C. Raja Ram Mohan Roy was a socio-religious
reformer .

D. Raja Ram Mohan Roy supported the abolition
of the practice of sati.

Who accords recognition to a newly formed
Political Party?

A. ThePresident -

B. TheParliamnet

C. Election CommissionofIndia

D. ThePrime Minister

Which of the following added the ‘Fundamental

Duties’to our constitution?
A. 44th Amendment
B. 73rd Amendement

. C. B86th Amendment

D. 42nd Amendment
By whom the Vice President of India is efected?
A. Elected members‘cﬂ’ailiament
B. Allmembers-ofPérliatnent
C. MerabersofRajya Sabha
D. Elected members of State Legislative
Assemblics
Which of the following mentions “Directive
principles of State policy”?
A. Articles3toll
. Articles121035

B
C. Articles36t051
D. Articles19t027

92.

93.

fr) geR FedFIRe QeE 6/ 66ife Q@

f6E |

A. DI UACFINR QA QEE1 U AER

AR DIFIEFILR IS 9 WAIFN ISV 46R

C. QU QUIEAIRA QU< G661 2F] 3 AFlle AR
4R :

D. QR QARG QI 6T gel B8] AdR
@ogen

R2)l 62IR G ETINYS! NIFER 0rG T NGE
AR RRE ?

A. QRO

.m'

C. Si00a Adion 2I6aE

D. QURARI '

w

Ferpe’ 6aeTe ‘eflife ediey gfq’ .afura
2BV ARYMI 7

A 440ALEENR

B, T3OATEERIR

C. B66FIX6ARIA
D. 426712659

ceciiee QI QIeR GoAIRal Fdite
geB ? '
A, TLARTOE A

| B. T0QLAILEH

96.

(24)

C. QMBI
D. QIR ERIRIRIRTE AT oY
feJie cael uUQIgPe QEME Fanegee
ediael ?
A. U311
. AR 12935

B
C. UN36QST
D. 19927
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97. Which of the following is a challenge to
"o

National Integration?
A. Federalism

B. Regionalism

C. Democracy

D. Social Justice

98. Which of the following is a National Political
Party? -
A. Bahaujan Samaj Party.
B. RastriyaJanataDal
C. Trinamool Congres
D. BijuJanataDal

99. When was - the “ Financial Emergency”
declared in Indla"

A. 1975
B. 1985
C. 1995
D. Never,

100. From which -of the following countriés the| -

concept of “lndependence of Judidary” has
been borrowed by India? |

A. 'Engl_and_
B. Canada
C. Switzerland
D. America

:l
(25)

97. @eqlanuqse@‘@mommegemmm?
A raEeio
B. 2BRGQIQ
C. e
D. PR
98. P6EID 6RO IR QITIA AIRIBR 0R ?
A .@qé@qgiea@ |
B. QISIARGI0R
C. Q8FRa6gQ
D. .C‘QQQGIOQ
NURCER 6RER. ‘e agR Tags’ sl
QAUDRYR ?
A. 1975
B 1985

C. 1995°
D. 606Q6Q0RE

99.

'100. 6661 6061 ‘PULTRAIRX IUAS!’ MRS AIRS

@Rl
A SR
B. GIRIGI
C. geeeRns
D. E6FRGI

§55 - 2017-18 - ¢



